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QUESTION 1

(a) Solve, giving solutions between 0° and 360°, the equation

sin® 8 + 2cosf = 2

(b) Find the exact value of cos 15°

(c) Soh:li for z
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QUESTION 2

[10]

(a) Use the remainder theorem to find the remainder when p(z) = 52® — 14z + 3 is divided by

D(z)=z-2

(6]

se the factor theorem to determine whether D{x) = -9 1s a Iactor of p(z) = x°+22°~ 252 5.
(b) Use the f h d ine whether D(z) 5isa fi fp(z) = 23 +22%-252 -5

(¢} Solve tan36 = 1

QUESTION 3
(a) Given that f(x) = 2zxj 13 find
(@) £(3)
(if) F~(=)

(iif) f71(2)

(b) Solve 2log; x = logs(2z + 3)
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[12]



QUESTION 4

a) Find the simple interest on E4000 at 20% for 9 years. 5]

b) Find the amount at the end of 12 years on a principal of E8 000 at 8% compounded quarterly.

[5]
¢) Solve for z
(i) 4% = 1024.
(ii) 3¢ = 7. [10]
QUESTION 5
a) Determine whether p(z) = 23 - 2? + 2 is divible by D(z) =2 + 1. 6]
b) Find all rational roots of p{z) = z* — 52% + 4. (8]

¢) Use synthetic division to evaluate (z® — 1) =+ (z + 1). [6]



QUESTION 6

a) Prove the following identity

sinf + cosf_ _ siné + cosd
1—cot§ 1-tanf
[10]
b) Find an equation of a straight line in
(i) through (5,—5) parallelto 4z +y—1=0
(ii) through (4, 3) perpendicular to 3z + 2y — 2 =0 [10]
QUESTION 7

a) Find the quotient and remainder when p(z) = 3z* — 4z% + 2z + 1 is divided by D(z) = z? + 2z

[10]
b) Two rectangular rooms each have an area of 240m?. If the length of one of the rooms is z metres
and the other room is 4m longer, write down the width of each room in terms of z. If the width of

the rooms differ by 3m form an equation in z and show that this reduce to 2 + 4z — 320 = 0. Solve

this equation. [10]



